
 

 
 

 

 

 

 

I– 
 

 

3 ( ) 2 3 ( ) 3 ( )( ) ( )aq aq aqCH COOH aq H O CH COO H O  

3 éq
H O 

3 3
3 3

CH COO H Oéq éq
CH COO H O 

3 3éq éq
n CH COO n H O 

3 3éq éq
CH COO H O 

3 3
3 3

CH COO H Oéq éq
H O H O 

3

3 3

éq

CH COO H O

H O 

3 éq
H O1S .2S 

1S1

13

3 3

éq

CH COO H O

H O 

2

3 3 21

3,5.10

4,09.10 3,49.10éq
H O 

3 4 1

3 1
0,89 . 8,9.10 .

éq
H O mol m mol L 

2S2

23

3 3

éq

CH COO H O

H O 

2

3 3 22

1,1.10

4,09.10 3,49.10eq
H O 

3 4 1

3 2
0,28 . 2,8.10 .

éq
H O mol m mol L 

12 

max

f
x

x
 

3 3 2f eqeq
x n H O H O Vmax .x C V CV 



3 éq
H O

C
 

1S
3 1

1

1

éq
H O

C
 

4

1 2

8,9.10

5.10
1 0,01781 1,78% 

2S
3 2

2

2

éq
H O

C
 

4

2 3

2,8.10

5.10
 

2 0,0562 5,6% 

 

 

3 3

,

3

éq éq

r q

éq

H O CH COO
K Q

CH COOH
 

3 3éq éq
H O CH COO3 3éq éq

CH COO C H O 

2

3

3

éq

éq

H O
K

C H O
 

1S

2

3 1

1

1 3 1

éq

éq

H O
K

C H O
 

2
4

1 2 4

8,9.10

5.10 8,9.10
K5

1 1,61.10K  

2S

2

3 2

2

2 3 2

éq

éq

H O
K

C H O
 

2
4

2 2 4

2,8.10

5.10 2,8.10
K 

5

2 1,66.10K 

2

1

1
K

k
 

1 2k K 

 

 

II 

 

– 



3 ( ) ( ) 3 ( ) 2 ( )aq aq aqCH COOH HO CH COO H O  

 

SC 

3( )in CH COOH n HO 

          

B BES A
C V C V 

B BE
S

A

C V
C

V
 

21,5.10 15,7

20
SC

2 11,17.10 .SC mol L 

 

0C(S) 

0 0 s sC V C V 

0
0

s sC V
C

V
 

1

0 1,17 .C mol L 

X 100g

3 0 3( ) . . ( )X m CH COOH C V M CH COOHV100g 

m
V= 100gm  

31 .g cm 

 100V mL 
31,17 100.10 60X 

0 7,02X g 
0 7,02( )X 

 
exp

100
th

th

X X

X
 

7 7,02
100 0,28%

7
 

 

 

 

 

 ------------------------
 

 

 
  

E 

 



 
 

aa 

1tan
2

L

D
 

1

a
 

 
1

f
a

1

a
a

1L 1tan
2

L

D
 

 

1
f

a
 

2 2

2 1

1 11

a aa

 

5

0,2 0

3,15.10 0
 

635nm 

1a 

1
1 1tan

2

L

D
1

1a
 



1

12

L

D a
1

1

2 .D
a

L
 

9

1 2

2 635.10 1,6

4,8.10
a 

5

1 4,23.10a m 

1 42,3.a m 

 

d 

 
2

2 .D
d

L
 

9

2

2 635.10 1,6

2,5.10
d 

58,12.10d m 

81,2d m 

 

 

 
– 

 
I 

 

 

1u2u 

E 

 

 

1 2( ) ( )E u t u t 

( ) ( )
Ldi

E ri t Ri t
dt

 

( )
Ldi

E r R i t
dt

 

( )
di r R

i t E
dt L

 

L

R r
A E 

 



1

tL R 

.
L t i

i u
 

T 

 

 

0I 

4i A( )i f t t = 0 

10 s 

0 4I A 

L 

L

R r
 

( )L R r 
610.10 (4,5 1,5)L 

56.10L H 

 

II 
 

00
i It = 0 

i OAt t 

( )

t

i t Bet = 0
(0)i Bi( )t t

( )
0

t
i 

(0) 0i B I 

 

U
i

t

i

t
i = f(t)t 

U
i

t
 

 

 

 

 

  -

SV


F


 

 



 

F


STu


STu


 

SV


F


 

 

.

( )2

TS
TS

T

G m M
F u

r h

 
TMSm 

 

(S) 

( ), ,s u n
 

a


 

 

 
 

 

. .T T Na a u a n
  

 

. .T T Na a u a n
  

 

 
(S) 

(S)  -

 -

F


(S)  -



.
S G

F m a
 

 -

2

.
. S T

TS GS

M M
G u M a

rT h

 
 

2
T

T

G TS

GM
a u

r h

 
 

Na


.
TS

u n
 

 

2
. . T

T N

T

GM
a u a n n

hr

   
 

2
. 0T

NT

T

GM
a u a n

r h

   
 

0Ta
2

0T

T

GM
a
N r h

 

S
T

dV
a

dt
 

= 0 SdV

dt
 

SV cte 

(S)SV cte 

(S) 

SV0g
Trh 

2
0T

N

T

GM
a

r h

2

0S
N

T

V
a

r h
 

2 T
S

T

GM
V

r h
 

0 2

T

T

GM
g

r
 

2
2

0
T

S

T

r
V g

r h
 

0
T

T

g
V rs

r h
 

V s 

3
3

9,8
6350.10

7350.10
Vs 

17332,35 .V m ss 

 

 

2 T

T

GM
Vs

r h
 



2

T

T

V r hsM
G

 

2 3

11

(7332,35) (7350.10 )

6,67.10
TM 

245,92 10TM kg 
246,0 10TM kg 

 

(S) 
 

(S)

 

2 ( )r hsT
S Vs

 

3 3(6350.10 1000.10 )
2

7332,35
ST 

6298,31ST s 

T = 84164s 

ST T 

(S) 
32

Tr Z cte 

(S) 

T

V
S

s
r Z

 

T

T

T

GM

r Z
s

r Z
 

3

T

GM
s

r Z
 

2

3

T

GM
s

r Z
 

32

Tr Z GMsGM 

32

Tr Z ctes 

Z 

2
Ts

T
 

2

3

2

2
Tr Z GM

T
 

2

2

.3
4T

GM T
r Z 



2

3
2

.

4
T

GM T
Z r 

11 24
33

2

6,67.10 6.10 (84.164)
6350.10

4
Z 

635,214 10Z m 

35214Z km 

 

 




